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A5l A F | AT F| EES | BEE| AR £ |9 F | SBEK | SEER]| A F£ [ 61 F | EES | EEE] A S| 61 F | EEK | EEE
& &t 8, 158 8, 793 -635 -7.2 49 61 -12 | -19.7 9,626 | 10, 369 -743 -7.2 480 554 =74 | -13.4
1A% 1,175 1,188 -13 -1.1 8 16 -8 | -50.0 1,410 1,409 +1 +0. 1 74 76 -2 -2.6
284 1,070 1,212 -142 | -11.7 9 6 +3 | +50.0 1,211 1, 406 -195 | -13.9 49 87 -38 | -43.7
3A% 1,155 1,296 -141 -10.9 6 8 -2 | -25.0 1,411 1,571 -160 | -10.2 70 73 -3 -4. 1
4 8% 1,129 1,354 -225 | -16.6 8 6 +2 | +33.3 1,330 1,599 -269 | -16.8 72 89 -17 | -19.1
584 1,162 1,219 =57 4.7 3 8 -5 | -62.5 1,383 1,426 -43 -3.0 81 83 -2 -2.4
6 A% 1,232 1,252 -20 -1.6 8 10 -2 | -20.0 1,470 1, 465 +b +0.3 55 78 -23 | -29.5
7A% 1,235 1,272 =37 -2.9 7 i +0 | *0.0 1,411 1,493 -82 -5.5 79 68 +11 +16. 2
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A5l A F | a1 F|ERAR [ BEE| X £|a £ BEK ([ EER]| A £ [ a1 F | @A EAE] A S| a1 F | EER% | #EE
1 A X 1,175 1,188 -13 -1.1 8 16 -8 | -50.0 1,410 1,409 +1 +0. 1 74 76 -2 -2.6
2 B X 2,245 2, 400 -155 -6.5 17 22 -5 | -22.7 2,621 2,815 -194 -6.9 123 163 -40 | -24.5
3 B X 3,400 3,696 -296 -8.0 23 30 -7 | -23.3 4,032 4,386 -354 -8. 1 193 236 -43 | -18.2
4 B X 4,529 5, 050 -521 -10.3 31 36 -5 | -13.9 5, 362 5, 985 -623 | -10.4 265 325 -60 [ -18.5
5 B X 5, 691 6, 269 -578 -9.2 34 44 -10 | -22.7 6, 745 7,411 -666 -9.0 346 408 -62 | -15.2
6 B X 6, 923 7,521 -598 -8.0 42 54 -12 | -22.2 8,215 8,876 -661 -7.4 401 486 -85 | -17.5
7 B X 8,158 8,793 -635 -7.2 49 61 -12 | -19.7 9,626 | 10, 369 -743 -7.2 480 554 =74 | -13.4
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